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1. There are 4 vVases. Each vase has 5 flowers. How many flowers are
there in all 7

S5+54+5 4 5=
There are flowers in all.

2. There are 2 bunches of bananas. Each bunch has 10 bananas. Hoy,
Mmany bananas are there altogether ?

There are bananas in all.

3. There are 2 fish tanks. Each fish tank has 6 fishes. How many fishes
are there in all ?

c4u= [I3] = i

Thereare |19, | fishesin all.




| 9.2 Multiplication op 4 Number Line
example 1: Multiply o by 3.
; 2

I'—"'""'_"—‘"—---{
3 .
. | 3
o I { | ! } Ir i »
0 1 2

3 4 5 6 7 8 9 10
. Method : Start from 0. Jump 2 places three times.

| 2+2+2=6 pR 3times2equals6 OR 3x2=6
Example 2 : Multiply 4 by 2.
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- Method : Start from 0. Jump 4 places twice.
4+4=8 OR 2times4equals8 OR 2x4=8

Write the multiplication fact for each. First one has been done for you.
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(a) Multiply and write in the boxes.
A boy has 2 eyes.

S boys have’ 5 x2

A table has 4 legs.

3 tables have

3

A flower has 5 petals.

4 flowers have

4

X

A hand has 5 fingers.

2 hands have

A clock has 3 needles,

6 clocks have

2L

X

6

2 taken 4 times is

3 taken 6 times is

4 taken 5 times is

10 taken 4 times is

10 taken 5 times is

(b) Fill in the blanks.

eyes = 10 eyes.

legs = 12 legs

petals = 20 petals.

fingers = 10 fingers.

needles = 18 needles.

4 taken 2 times is
3 taken 3 times is
5 taken 4 times is
4 taken 6 times is

5 taken 6 times is

30




(c) Multiply the following_

2 x 4

3 x 6
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